7 A
PT= AT = TC 7 14
1 2 &
(%)
1 DR-Z400SM 1: 4 : 932|PT1f 1 : 3 ;562 1:3:562 - -
2 DR-z400SM 1i 6 99 |pTaff 1: 3i817|PT2] 1 3 1817] 100 | 0.255
3 Z650 | 1:8:i410 1:7:658 1:7 :658] 106 |4.096
4 DRZ-400SM 1: 9 :377|PT1ff 1:12: 79 |PT5] 1 : 9 :377] 109 | 5.815
5 ZRX1200R 1 :10; 761 1:16:390|PT5) 1 :10:761] 111 | 7.199
6 WR250] 111617 1:10: 367 1:10i367] 111 | 6.805
7 MT-07 | 1:16: 121 1:10: 867|PT5) 1 :10:867] 111 | 7.305
8 SV400S | 1:18:476|PT5| 1 :10: 903 1:10:903] 112 |7.341
9 VTR250 | 1:13:512| AT1f| 1:11: 998 1:11:998] 113 | 8.436
10 14 020 26 | P71 1:16: 922PT5] 1 112! 26| 113 | 8.464
11 Z1000 | 1:13:722 1:13:409 1:13:409] 115 |9.847
12 4 018: 994 1:15:321 1:15:321] 119 (11.759
7 B
PT= AT = TC 7 14
1 2 B A
(% C P %

1 It D:Q3: 917|PT2[ 1: 9: 55 1:9:{55 - - 109 | 5.493
2 CRM250RIR1:19; 76 1:10:988|PT1| 1 :10:988] 112 |1.933( 112 | 7.426
3 DR-Z400SM - KMm[[ 1:11: 851 1:11:851] 113 | 2.796(f 113 | 8.289
4 b 5:A2: 15 |PT1 1:11:997|PT1] 1 :11:997] 113 | 2.942]| 113 | 8.435
5 Z250 1:13:282|PT1) 1:12; 407|PT1] 1 :12;407] 114 | 3.352| 114 | 8.845
6 Z650 | 1:13 694|PT1 1:12:515 1:12:515| 114 |3.460| 114 | 8.953
7 ZRX1100| 1:19:592|pP12|[ 1:i16; 25 |PT1] 1 :16: 25| 120 | 6.970( 120 |12.463
8 1 4R 23 126 57,2 117 23| 121 |7.968| 121 |13.461
9 Z1000 | 1:25:145|pPT1f 1:17:137 1:17:137| 121 |8.082| 121 |13.575
10 CB750 | 1:21: 307 1:18: 890 1:18:890] 124 |[9.835| 124 |15.32§
11 CBR600RR - KMm|| 1:29: 748[PT6] 1 :29:748] 130 |20.693]| 141 |26.184




7 C1l

AT = TC 7 14
0 > C1l A

- (o) Cp %) (
Z1000 | 1:38;917(TOff 1:18;711| - | 1:18;711] - - 124 |15.149
GSX-5100( - KMIf1:19:679] - | 1:19:679] 101 | 0.968| 125 |16.117
VTR1000( 1:30: 808 - [[1:19:759| - | 1 :19:759] 101 | 1.048( 125 |16.197
12383:654| - [|1:22:113] - | 1:21:113] 103 |2.402| 128 |[17.551
Fz1 1:i30:199] - [[1i29i163|AT1] 1 {29{163] 113 |10.452 140 |25.601

VTR250 - KM - KM - - - - -




7 C2
PT= AT= TC 7 14
. 5 C2 A

(o Cp % (
1 CB750 | 1:17:942 22: 806 AT2 17:942 - - 123 |14.38(
2 Z400 - KM 18: 204| PT5 18:204] 100 |0.262| 123 |14.642
3 1:20: 48 |PT1 18: 659 PT1 18:659] 101 |[0.717| 124 |15.097
4 ZRX1200] 1:22: 25 | AT1 20: 825 201 825] 104 |2.883) 127 |17.263
5 2 220: 342|PT5 25: 945 21:342] 104 |3.400(f 128 |17.78(Q
6 4 (P8: 478 21: 750(PT1 21:750] 105 |3.808| 129 |18.188
7 6 5-0 KM 22: 593 22:593| 106 |4.651| 130 |19.031
8 Z800 | 1:23:677 25: 837|AT1 23:677| 107 |5.735| 132 |[20.115§
9 ER6Nn | 1:48:861|PT1 32: 119 32:119] 118 (14.177) 145 |28.557
10 2 538 50 33 3 33 3| 119 [15.061 146 |29.441
11 CB400SF| 1 :49: 525| pTs 39: 545| PT5 39:545] 128 (21.603] 157 |35.983

- - KM - KM - - - - -

- 1100:- KM - KM - - - - -




7 ( )
PT-= AT= TC 14
1 2 A
(o) Cp %) (
2250 0:53: 637 52: 898 52: 898 - -
250SB | 0 :54i 767 - KM 54:767] 104 |1.869
ZX10R | 0 :57: 789 56: 372 56:372] 107 |3.474
ZRX1100] 1: 0:965|PT1 59! 76 59: 76| 112 |6.178
XR230 [ 1:1:725 59: 752 59:1752] 113 | 6.854
4020 90 - KM 2:90] 117 ]19.192
5:0 KM 3: 38 3:38] 119 10.140|
MT-07 - KM 11: 784 11:784] 136 |18.886
MT-09 | 1:40; 250 - KM 40: 250] 190 (47.352
| 2i5 KM - KM - - -




PT= AT = TO 7 14
1 2 A

(% P P
1 ZRX1200R 1{10: 761 1:16:390(PT5] 1 :i10:761 - - 111 | 7.199
2 71000 | 113722 - | 1:13: 409 1:13i409| 104 |2.648| 115 | 9.847
3 ZRX1100| 1 :19: 592|p12| 1 :16: 25 [PT1| 1i16i 25| 107 |5.264| 120 |12.463
4 1 4R 23 1:26) 57 || 1i17i 23] 109 |6.262| 121 [13.461
5 Z1000 | 1:25;145|pT1fl 1:17: 137 1:17{137] 109 [6.376( 121 (13.579
6 CB750 | 1i17:942| - [ 1i22i 8o6|at2| 1 i17i942| 110 [7.181 123 |14.384
7 71000 | 1:38:917|To| 1:18: 711 1i18i711] 111 |7.950| 124 |15.148
8 CB750 | 1i21i307 1:18: 890 1:18i890] 111 |[8.129( 124 (15.328§
9 GSX-S100Q | - kifl 1i19i 679 1i19i679| 113 |8.918| 125 |16.117
10 VTR1000] 1 :30; 808 1:19: 759 1i19i759] 113 [8.998( 125 [16.197
11 ZRX1200| 1:22; 25 [ATYf 1 :20i 825 1:20:i825] 114 10.0641 127 |17.263
12 Z800 1:23:677 1:25:837|AT1] 1 i23:677] 118 |12.916] 132 |[20.115
13 FzZ1 1:30; 199 1:29i163|AT1] 1 i29i163] 126 |18.402 140 [25.601

14 ZX10R | 0i57: 789 0:i56: 372 0i56:372 - - - -

15 ZRX1100[ 1 0:965|PT1 0i59: 76 0 {59 76 - - - -

16 MT-09 | 1:40; 250 - KML 1 :40:250 - - - -

- KM - KM - - - - -

1100 - KM - KM - - - - -

v
PT= AT= TO 7 14
1 2 A

(%) Ch (9 (
1 Z1000 | 1:38;917| 10| 1:i18; 711 1:18:i711 - - 124 |15.149
2 VTR1000] 1 :30i 808 1:19: 759 1:19;759] 101 | 1.048( 125 (16.19%
3 CBRG60OORR - KMl 1129 748|PTe| 1 i 29i 748] 114 |11.037| 141 |26.184
4 2 338 50 1:i33 3 1:33; 3| 118 (14.292 146 (29.44]

5 ZX10R | 0i57: 789 0:56: 372 0 {56372 - - - -




PT= AT= TO 7 14
1 2 A
(o C|p % (
1 CB750 | 1;17: 942 1i22i806(AT2] 1 i17i{942] 100 0.00 || 123 | 14.38
2 ER6n | 1:i48:861|PT1f 1:32{119 1:32:119] 118 | 14.18| 145 | 28.56
3 CB400SF| 1:i49: 525|PTs|f 1 i39: 545|PT5] 1 i 39i545] 128 | 21.60( 157 | 35.98
4 ZRX1100] 1: 0:965(PT1| 0:59: 76 0:59: 76 - - - -
5 MT-09 | 1:40: 250 - KM| 1 :i40;250] - - - -
- 1100;- KM - KM - - - - -




